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Multiplicera med tio befogenheter (antal saknas)
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namn: Datum: Poiing:

10, 135 x = 101.35 9,014 x =90.14
7,314 x =7314 9,078 x =90.78
10, 845 x = 108.45 7,622 x =762.2
6, 793 x = 6793 5, 809 x = 58.09

8, 167 X = 8167 3,789 x =37.89
2,527 x = 2527 10, 042 x = 10042
2,089 x =20.89 8, 647 x = 8647
7,921 x = 7921 9,32 x =932
9,475 % =94.75 1,962 x = 1962
10, 255 x =1025.5 10, 434 x =104.34
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| =Nl (()) Multiplicera med tio befogenheter (antal saknas)
namn: Datum: Poing;

10, 135 x 10 = 101.35 9,014 x 10 =90.14

7,314 x 100 =731.4 9,078 x 10 =90.78

10, 845 x 10 = 108.45 7,622 x 100 = 762.2

6, 793 x 1000 = 6793 5,809 x 10 = 58.09

8, 167 x 1000 = 8167 3,789 x 10 =37.89

2,527 x 1000 = 2527 10, 042 x 1000 = 10042

2,089 x 10 =20.89 8,647 x 1000 = 8647

7,921 x 1000 = 7921 9,32 x10=93.2

9,475 x 10 =94.75 1,962 x 1000 = 1962

10,255 x 100 = 1025.5 10,434 x 10 = 104.34
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